
PUZ7.LI ( find it at puzzle 1. html )

MAZE 1 MAZE 2 MAZE 3

451 ten for
MAZE 4 �1� Fill in the mazes per the instructions . There

is only one correct path .
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LEFT STUD UP
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→ near the left stud elevator
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PUZZLE 2 People found his via QR code

- huielckdnwltidushgb .

html

C n c u g of d a v 4 e j �1� Use the letter halfway between

corresponding letters In the two strings .

n t h w m t n g v v e o

Halfway between a letter and itself Is

y z my s W xm v we t that same letter .

�2� Second application of clue : halfway across the bridge is 182.2 Smoots
.
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insert snoot # at midpoint of string
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PUZZLE 3 found at

-
nthwmt 182.2 ngvveohtml

�1� Find a matching such that each operation is True . For example ,
2+3=16

,

but if 2→4 and 3 → 2 under the mapping for
"

t
' ' and 6→6

,
then the

statement is true .
Each operation had its own napping of 0 - 9 to 0-9

that made the statements mathematically true
.

0 1 2 3 4 5 6 7 8 9
+ 6 2 4 3 5 8 7 9 0 1

- 6 4 3 7 0 9 5 8 2 I
* 8 5 4 0 2 6 9 7 I 3

÷ S 9 0 7 3 2 6 4 I 8

�2� Use the corresponding correct numbers for each operation when solving the

long expression at  the end .

20 05 12 05 20 25 16 05 j find the corresponding letter
T E L E  T Y P E of  the alphabet

teletype . html has the next puzzle



PUZZLE 4 found at teletype .
htnl

This puzzle was easiest solved as both a Sudoku ( suggested by the 9×9 grid ) and
a crossword (suggested by the acrossldown dues )

.

To go between letters and numbers
, you had

to  use standard telephone type ( 2=" a ,b,c
"

,
etc )

. Note that 1 has no letters assigned
to it

,
so it's used to separate words .

across down
23 7 6 48 59 I 1)adroitly 1) clientry

5 9 8 73 1 2 64 9) kyuse 2) exmap
46 25 9 87 3 10 )ami 3) st

3 25 8 74 9 1 6 12) io 4) 6728954
6 7 49 I 2 3 85 13) alwtse 5) help
8 I 95 6 3 74 2 B) 3258749 6) t
7 5 24 9 6 1 3 8 17) o 7) katzdr
9 43 1 8 56 2 7 18) orgy 8) wop
1 86 327 459 19) cfuk 11 ) idolatry

21 ) u 1419423657
22 ) 9563742 16 ) lizceo
23 ) slagyo 20 ) tidal

26 ) et 23 ) nync
27 ) wie 25 ) lit
28 ) ulnar 29 ) ni

30 ) uneasily 31 )f

We get X
, , Xz ,

X
} ,

Xq by filling in missing clues using Sudoku . Then
, plug

them into He equation at  the bottom to get

62946862 only valid word formed when typing on phone pad
maximum



PIES found at maximum .
html

The dots form 5 constellations .
Note the Bayer letters

.

Order the first letter of each constellation by the asterisked greek
letter in each one : ISAAC . You're not on a first - name basis w/
Isaac NEWTON

, so newton . html gives the last puzzle



PIG found at newton . htnl

Take the formula and use letters as numbers and subscripts as elements
.

for example ,

HZISA .
B ,s→CsHqNOz . look up these formulas to get  Their common names .

Make

sure they each have a different starting letter :

Associate 1-20 with the first letter of each compound (reading the

table like a periodic table . The letters of the given formula make
RESONANCE and the numbers make MOLECULE .


